Test Paper |
Test Subject : PSYCHOLOGY
Test Subject Code :| K-1513 |

Test Booklet Serial No. :
OMR Sheet No. :
Roll No.

(Figures as per admission card)

Name & Signature of Invigilator/s

Signature:

Name

Paper
Subject

Time : 1 Hour 15 Minutes

Signature:
Name

]
PSYCHOLOGY

Maximum Marks : 100

Number of Pages in this Booklet : 24

Number of Questions in this Booklet : 50

e prrert SouRne

. B R ReRDONE, wTNAT :j;éd@q Qe Bree® Rﬁowda’;&uo”o@o&

Instructions for the Candidates
1. Write your roll number in the space provided on the top of this page.

2. 853300 LR 803, DB DB FIAYRL LIRS, 2. This paper consists of fifty multiple-choice type of questions.

3. a’@eﬁc&v @dozﬁc@; @%ﬁéﬁoﬁﬁa DRRDERRTOPD. 05 mm 3. At th? commencement of gxamina}tion, the question booklet will
20 PRAECHD FCTHL0 By NS BTN TOEH BTG, be given to you. In the first 5 mlnutes, you'are requested to

N e, =, ¢ R open the booklet and compulsorily examine it as below :

() BRI FSemTRT T, 35 TR0 FUT Lorss Hedtds () To have access to the Question Booklet, tear off the paper
T 2T BOCWO. AFT* 16 AQTHITHE 2 BORLeE. ST seal on the edge of this cover page. Do not accept a booklet
TRBODR R CBORLIR. without sticker-seal and do not accept an open booklet.

(i) g0 @%ﬁe} Roed I Fwne ﬂo.sjﬂo:s,)szi F0DR)e3T eSS (i) Tally the number of pages and number of questions
TORT TetI03RoRR TP SReRD. @uﬁ%/—g%ﬁ%@gmm in the booklet with the information printed on the
ST DR ST SWIHTNQT ©FT 833 AR FTIT cover page. Faul'ty booklets d'ue to .pages/questlons
PSS S5 RS U L, oo O othor disorepancy should b got replaced immediately
BIVT RRIR WTTRTNY WD, & WIT BT BT b t booklet f the inviailat ithin th

y a correct booklet from the invigilator within the
WRTCLHTIIDYRR, 3t Bed, BRI ERRIRHYRL; period of 5 minutes. Afterwards, neither the Question

4. BacdrobIIa(A), (B), (C) 08(D) 20w TR e TesReod Booklet will be replaced nor any extra time will be given.
VTNV, ez gziodo 2T FOCINT YUZTT Foeds, 1 52T | 4. Each item has four alternative responses marked (A), (B), (C)
@omé@c&:&q 6@?\#25@53. and (D). You have to darken the oval as indicated below on the
POTIRTR: @ ‘ @ correct response against each item.

(C) ROCIRT SuITTATT. Example : (A) ®

5. B3 =33 | 39 Erucos OMR «u3d mdehd, B3 =38 | ==y where (C) is the correct response.

833321 39, B FInen Ay ww3snvay Aeuregmy; OMR «vgd | 5. Your responses to the questionsare to be indicated in the OMR

TPoD Y, omBIohus el IR ;\,;gdq S0ZTBR, RHSATT, Sheetkept insidg the Paper.l Booklet only. If you rna_rk atany

B0 FPORRTI FRRPHFOL, place other than in the ovals in the Answer Sheet, it will not be

6. OMR g0 see), Ent, Rpedineal wondegscioos L.0o. evaluated. o

7. oos 200 BodE @;%@b ensed gpdﬁd)‘ 6. Readthe mst_ructlons givenin OMR caref_ully.

% L3 o 3% 7. Rough Work is to be done in the end of this booklet.

8. Rmy mMOTEREY WRTNIBIWENNT DRy B> eFm R | g |fyou write your name or put any mark on any part of the OMR
WA, RonEena Y Beo Bar, OMR vyt e cangde Answer Sheet, except for the space allotted for the relevant
WNTY, WTTT, D6y WRBFST PP THNTIG 0. entries, which may disclose your identity, you will render yourself

9. Toegedo RONBIeTS, Fmacmen OMR §u83 @iy Howeggort liable to disqualification. o
R L0TaNReIeE Tody Toem $rBRD BRoK OMR 2 RsRedn 9. Youhavetoreturnthe test OMR Answer Shget to the invigilators
Sacdinod dodc cary it you ourade he Exammagon il

10. Toegeh 5030, 0w, TY Byt T3 3500 OMR T 9By |46y can take away question booklet and carbon copy of OMR
R0 SrichEncm Epertimm. Answer Sheet soon after the examination.

1. 2ed/ 37 wouramavos® Fn® SR wmcdeend. 11. Use only Blue/Black Ball point pen.

12, EyPent® wEme oan® Berie® BERch woBcdeens dFepReNRE. |12, Use of any calculator or log table etc., is prohibited.

13. 70 8uR uZTRYR 93050 Wos VWDJAY . 13. There is no negative marks for incorrect answers.

K-1513 ) 2.8.3#¢/P.T.O.

v StudentBounty.com


http://www.studentbounty.com/
http://studentbounty.com/

daﬁ.raeé)mpg
Jezot =l

NI ¢

1. ‘TR0 5 TRETITS &,d803"" 032

B3 TGFOI0 (50) 2R BRIV TRTWOOD BINTSRFRR0RT), TS8R TFoKwe
QTR (2) @o@r{eﬁsaq TROOT. Q&R @’%ﬁ@d@q BTTODTIN LVZORLICB.

5. T3NS SN ERLITOT FRCTEINTI WHR T |
w o X W

80T STPRRZT. ) T3, 1| O BERo0THR B0 LTy
(A) S0 08y 2
(B) Zwom
(C) Somxbwe = | zeg Il
(D) Soned a) 300 1) da® 3,
2. 31 39N3 oI BREVRY BRI b) L 2) G
Ros3 300N FoLIot TeohwT ? c) 3,Fmd 3) =FIT” 3¢
(A) = d) &owhm® 4) neds
(B) 7@
©) m@@g BRCTONTD (Foded) :
(D) =pos a b c d
(A) 1 3 4 2
3. 92wis (3033 ) 7, F9N CARRTTY,
TBINT ? (B) 3 1 4 2
(A) &80 0mE (C) 4 2 1 3
(B) &os3pE,0m%" (D) 1 4 3 2
(C) 2wz
(D) ZFipreenom® . RO 83 $NS cansYs eied
4. QeFEO8 R GO B3 TSNS 0e3CDOR, FOLORAY ?
TEFLTBITI. (A) TR0
(A) mFET 2 (B) Rntod Bgod
(B) mobr 7,2 C) Rz wzmne
8
(C) ™7 @ (©) 5y o2pn®
(D) are A (D) deorcd ERed)od
Paper I (2) K-1513

111111 q.5tudentBounty.com


http://www.studentbounty.com/
http://studentbounty.com/

PSYCHOLOGY
Paper -1l

Note :

1. “Flight or Fight Response” is from
(A) Brain
(B) Heart
(C) Spinal cord
(D) Nerves

2. Which of the following psychologist is
associated with magical number ?

A) Watson

3. Recent memory is stored in
(A) Occipital lobe
(B) Hippocampus
(C) Cortex
(D) Hypothalamus
4. Long term memory is also known as
(A) Primary memory
(B) Working memory
(C) Secondary memory

(D) Executive memory

This paper contains fifty (50) objective type questions. Each question carries
two (2) marks. All questions are compulsory.

5. Match List | with List Il and select the

correct answer using the codes given
below the list :

Listl List 1l
a) Temporal Lobe

b) Frontal Lobe
c) Parietal Lobe

1) Broca’s Area

2) Visual

3) Wernicker’s
Area

d) Occipital Lobe 4) Mathematics

Codes :
a c d
(A) 1 4 2
(B) 3 1 4 2
(C) 4 1 3
(D) 1 4 3 2

6. Cognition does not deal so much with
(A) Mind
(B) Information processing

(C) Personality characteristics

(D) Decision making

K-1513 (3)

Paper lI

v StudentBounty.com


http://www.studentbounty.com/
http://studentbounty.com/

N O AR
7. DTERCET D003 9

(A) =@
(B) e,
(C) =znesed

(D) =nz2E 3ednes

8. BT WT &Y, &%ﬁ@eoﬁaé 2OTT

(A) o3 Bp3 D03 TBodeowd 203
SRS FBROLOG

(B) e @@ QpRs O3 A2ecddZom0
R09R0 B3

(C) ©BF ©oaned @02 LRy
TRERORTITH0 IR ABROLIOT

(D) Boegodo OR> CRmRaBIRe ARIOWoR

9. 2,00 DO, BOTLWHOR Foee 2008
AR TR WIZRHOTO FRINBE SRR
RIYRRR), TRTSTED [T 83 FING
03733 RT3, BRODTUIEES ?

(A) RBRS, MG,
(B) Ro0RRUR SRmR 2073,
(C) wamob 2073,

(D) DeFecmo 20503,

10. 33 3INT CRPT BFOD Be320%303
BRDVINT ?

(A) RDITRF O,
(B) Ax=02005 MOT003
(C) ©03 =g (Partialling)

(D) Hoes R)e TWOLTLIT 2B RO

11, BTF000T eE, e oS 308 LRSReT
T, ODTNIRY, BORLD 85 FENS C3R3
AR, TBETD, WIRWIITO 2

(A) cangespsmon
(B) Zodeer
(C) Dy SRWLREBT LoD

(D) THEEHIUT 563,00

12. J3css 23 O PO GaleljeveuInloning
wh wh
T208 FRegEemeN WRNG. QER IENS
CIRT)TO RIS 2

(A) OB Bo0w TOEFFOWOT BRRT
(B) sOegoa0 Bootm ATYemNT
(C) a’imémqu @omuabq NE3eBTORITY)TO

(D) F0Se3 TR FUEY) QRPN
m@i@’zﬁfb@ad

Paper i (a) K-1513

LI LR StudentBounty.com


http://www.studentbounty.com/
http://studentbounty.com/

7. Syntax refers to 10. Which of the following is measure

: : "
(A) Meaning internal consistency of a scale 7

(B) Sound (A) Cronbach’s alpha

(C) Word order (B) Correlation coefficient

C) Partialli
(D) Mental Lexicon (C) Partialling

(D) Test-Retest reliability

8. Cronbach’s alpha reliability is

) ) , 11. What is the most generic term for
(A) The correlation of each item with the

, describing correlational surveys and
sum of items

observational studies ?

(B) An average of all possible split-half
(A) Non-randomised
reliabilities
(B) Experiment
(C) The correlation of half of the items

with the total participants (C) Passive observational studies

(D) Correlating two forms of tests (D) Non-manipulation studies

9. A measure which is capable of 12. Resulting data from a test of academic

differentiating between one group of knowledge are positively skewed. This

1
participants from another group of suggests tha
participants on a particular construct may (A) The test was too difficult
have good what ? (B) The test was too easy
(A) Concurrent validity (C) An unbiased estimate must be
(B) Predictive validity calculated
(C) Content validity (D) Some students benefitted from
‘hallo effect’
(D) Discriminant validity
K-1513 () Paper Il

v StudentBounty.com


http://www.studentbounty.com/
http://studentbounty.com/

LTI
13. 83 3PNT RO TTRET BTN ?
(A) AZ
(B) QmoR0TT 20038 wv)
(C) ‘T 308
(D) U’ 08

14. 3TI0LRSE 203
(A) 2233 wasndnoln Fo0RRITO
(B) 0208 gEnva) smoRe et
(C) 93T LTINS @0

(D) 2233 1RBINIS, B
WOBRAYROTYTD

15. Dete 9ert 0u30o% (Secmd) Roseanend
2 T3, | o3y e, lleo, FERoRATH 70

16. 55 ISNTYNYY, TOeT£d T3P0 BOIR

2063 CIRRT 2

(A) Brexd, @03 TR, éb%m’?oeojaé,
%oqfo%, TR,FNT IR B, WRTIT,
%&@oﬁo&q B0 OROT)TIO

(B) c3newd, 203 WIS, T,HR0T
Vvt @%ﬁ@eoﬁa@, %oqﬁa%,
DA %&@oﬁa@{ B0 ORIT)TO

(C) Brexs, THAE Je3F T3,
903200, %)oqﬁo%, &%#@@oﬁaé,
BNTT, %&@oﬁo@{ B0 ORIT)T

(D) cdrexs, ©03 TR, To,5wT
vt @%ﬁ@eoﬁa@, %oqﬁa%,
%&@oﬁa@ BOIR ORI, TIIT

17. DeIte St 2oLItom Enecond wen B |

303 w@i Ileﬁg{g{ BRODATO= FO mgdd:%
@Of)% DE.

33 1 e Ml
U0, oKy TR a) mzﬁ&:@’@ea@ 1) wo° &ivds"
T | T Ml b) wooels BWOFED  2) iRt

a) 000 1) =8 C) ABFB 3) e (WAIS)
b) =2 2) m@(?_?g Hoegss
C) WI LY 3) J3E, d) g Tos  4) AN PRTF
d) [eosr® (WAIS) 4) wizsmog Brew* s
BRCTONTD (Foded) : FRCTONW

a b c d a b c
(A) 3 1 4 (A) 2 1 4
(B) 2 3 4 1 (8) 4 2 3 1
() 4 1 3 2 ©) s 2 4
(D) 3 4 2 1 () 2 1 3 4

Paper i (6) K-1513

v StudentBounty.com


http://www.studentbounty.com/
http://studentbounty.com/

13. Which is NOT a type of standard score ?
(A) A stanine
(B) A deviation 1Q
(C) A ‘T’ score

(D) A*J score

14. Empathy involves
(A) Vibrating with other’s feelings
(B) Approving other’s feelings
(C) Knowledge of other’s feelings

(D) Reinforcing other’s feelings

15. Match List | with List Il and select the

correct answer using the codes given

16. The correct sequence for test
development is

(A) Planning, item writing, reliability,
validity, preliminary administration,
norms, preparing mannual

(B) Planning, item writing, preliminary
administration, reliability, validity,
norms, preparing mannual

(C) Planning, preliminary
administration, item writing,
validity, reliability, norms,
preparing mannual

(D) Planning, item writing, preliminary
administration, reliability, validity,
preparing mannual, norms

17. Match List | with List Il and select the
correct answer using the code given

below the list : _
below the list.
List] List 1i Listl List Il
a) MMPI 1) Internet a) Verbal test 1) RPM
b) SVIB 2) Intelligence b) Non verbaltest 2) Otis
c) MATB 3) Personality c) Performance 3) WAIS
d) WAIS 4) Aptitude d) Mixed 4) Segvin form
board
Codes :
Codes :
a b c d a b c d
(A) 3 1 4 2 (A) 2 1 4 3
(B) 2 3 4 1 (B) 4 2 3 1
(C) 4 1 3 2 (C) 3 2 4 1
(D) 3 4 2 1 (D) 2 1 3 4
K-1513 (@) Paper Il
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18. Match the List | with List Il and select the
correct answer using the code given

20. Given below are two statements :
Assertion (A) and Reason (R). Select

below the list. your answer using codes given below :
Listl List Il Assertion (A) : This mango is sour in
a) Spearman 1) Multiple taste. Therefore all the mangoes in the
intelligence basket must be sour too. This is
b) Thurstone 2) Crystalized generalisation kind of thinking.
and fluid Reason (R) : Deductive reasoningis a
intelligence process of drawing conclusion about
c) Cattell and Horn  3) Primary specific from universal.
abilities Codes :
d) Gardner 4) Two factor (A) Both (A) and (R) are true and (R) is
theory the correct reason of (A)
Codes : (B) Both (A) and (R) are true, but (R) is
a b c d not the correct explanation of (A)

(A) 3 2 1 4 (C) (A)istrue but (R) is false

(B) 4 3 2 1 (D) (A) is false but (R) is true

(C) 4 3 1 2

(D) 3 4 ) 1 21. Match List | with List Il and select the

correct answer using the code given
19. The sequence of stages of Piaget’s below .the list.
theory of cognitive development are Listl List Ii
_ a) Hebb 1) Perception
(A) Preoperational, concrete .
_ , b) Adler 2) Learning
operations, formal operations, .
: c) Gestalt 3) Striving for
sensori motor A
superiority

(B) Sensori motor, Preoperational, d) Koffka 4) Cell
concrete operations, formal assembly
operations

P Codes :

(C) Concrete operations, formal a b c d
operations, preoperational, (A) 1 3 o 4
sensori motor (B) 5 3 4 1

(D) Formal operation, sensori motor, (C) 4 3 1 2
preoperational, concrete operations (D) 3 4 2 1
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22. Match the following using correct answer

code :
Listl List I
a) Productmoment 1) Fisher
method
b) Rank difference 2) Pearson
method
c) ANOVA 3) Spearman
d) Regression 4) Galton
Codes :
a b c
(A) 2 3 1 4
(B) 3 2 4 1
(C) 2 3 1 4
(D) 4 3 2 1

23. Given below are two statements :
Assertion (A) and Reason (R). Select
your answer using codes given below.

Assertion (A) : Information is transfer
from STMto LTM.

Reason (R) : An item’s serial position
influences its recall in list learning.

Codes :

(A) Both (A) and (R) are true and (R) is
the reason of (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(C) (A)istrue but (R) is false
(D) (A) is false but (R) is true

(A) Be the offsprings of creative people

(B) Be chronically depressed
(C) Have alow 1Q

(D) Be flexible in their thinking

25. Cultures have different sets of rules about
how emotions can be exhibited in public.
These are called rules.

(A) affection

(B) emotional

(C) display

(D) model

26. Which of the following is the correct order
of the structure through which light

passes after entering the eye ?
(A) Pupil, cornea, lens, retina
(B) Pupil, lens, cornea, retina
(C) Cornea, retina, pupil, lens

(D) Cornea, pupil, lens, retina

K-1513
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27. Write the following mental retardation

stages in correct sequence correct answer using the code given
_ below the list.
(A) Mild, moderate, severe, profound
Listl List Il

B) Moderate, mild, profound
(B) Moderate, mild, profound, severe a) Errorof central 1. Giving more

(C) Mild, moderate, profound, severe tendency or less similar

(D) Moderate, profound, mild, severe rating to traits
b) Logical error 2. Occurs due
28. The correct order of stages of substance to nearness

use are of two traits

(A) Initiation, cessation, maintainance, c) Proximity error 3. A tendency

to avoid all
relapse
extreme
(B) Initiation, maintainance, cessation, judgement
relapse and rate high
(C) Maintainance, initiation, cessation, in the middle
relapse d) Error of liniency 4. To rate the
e . rates too high
(D) Initiation, cessation, relapse,
. irrespective of
maintainance
trait being
29. Concept formation involves rated
and Codes :
: : : a b c d
(A) Inductive and reflective reasoning
(A) 3 1 2 4
(B) Abstraction and generalization B) 5 3 4 ’
(C) Thinking and reasoning (C) 3 2 1 4
(D) Intelligence and creativity (D) 4 1 2 3
K-1513 (13) Paper Il
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31. Given below are two statements
Assertion (A) and Reason (R). Select
your answer using codes give below :

Assertion (A) : Efficacy of a therapy is
assessed by testing the participants
before and after the therapy.

Reason (R) : A correlated 1’ test will
inform whether there is a significant
change in the performance of a group.

Codes :
(A) Both (A) and (R) are true and (R) is
the correct reason of (A)
(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)
(C) (A)istrue, but (R) is false
(D) (A) is false, but (R) is true

32. Match List | with List Il and select the

33. Which one of the following sequenc
correct ?

(A) Receptor, Action potential, Brain,
Effector

(B) Action potential, Receptor, Brain,
Effector

(C) Receptor, Brain, Action potential,
Effector

(D) Action potential, Brain, Receptor,
Effector

34. Match the causes of mental retardation
with common examples.

correct answer using the codes given Causes Examples
below : a) Genetic 1) Prematurity
Listl List Il dit
a) Method of 1) Stimuli are condition
limits grouped into a b) Problem at 2) Down’s
pre-determined birth syndrome
number of
categories c) Problem after 3) Environmental
b) Method of 2) Method of birth health hazards
average error serial . d) Poverty and 4) Accidents such
exploration
c) Method of 3) Method of cultural as blow to the
constant stimuli reproduction deprivation head
d) Method of 4) Method of
category scaling  frequency Codes :
a b c d
Codes : (A) 3 ) 1 4
a b c d
(A) 1 2 4 3 B) 2 1 4 3
(B) 3 4 2 1 (C) 1 3 2 4
(C) 2 3 4 1 (D) 4 3 2 1
(D) 4 2 1 3
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35. Given below are two statements :
Assertion (A) and Reason (R). Select
your answer using code below :

Assertion (A) : The rate of bar pressing
by rat in a skinner box increases when
it is followed by food reward.

Reason (R) : A respondent behaviour
is strengthened if it is followed by
reinforcement.

Codes :
(A) Both (A) and (R) are true and (R) is
the correct reason of (A)
(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)
(C) (A)istrue, but (R) is false
(D) (A) is false, but (R) is true

36. Which of the following does not affect
eating behaviour ?

A) Level of insulin

(A)

(B) Certain genes
(C) Group influence on eating
(D)

D) Height

37. The striving for fulfillment of one’s
potential is called

(A) Self concept

(B) Self efficacy

(C) Self actualization
(D) The ideal self

38. Which of the following is not a type o

behavioural assessment ?

(A) Direct observation
(B) TAT
(C) Rating scale

(D) Frequency count

39. Given below are two statements :
Assertion (A) and Reason (R). Select

your answer using code below :

Assertion (A) : Scores on a good test do

not change over short duration.

Reason (R) : High correlation between
scores on odd and even items of a test

reflects high test validity.
Codes :

(A) Both (A) and (R) are true and (R) is
the correct reason of (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(C) (A)istrue, but (R) is false

(D) (A) is false, but (R) is true
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40. Given below are two statements :

Assertion (A) and Reason (R). Select
your answer using code below :

Assertion (A) : The big five factor test
measures extraversion, neuroticism,
agreeableness, conscientiousness,
openness.

Reason (R) : Openness deals with
gregariousness, activity, excitement
seeking, positive emotions.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct reason of (A)

(B) Both (A) and (R) are true but (R) is
not correct reason of (A)

(C) (A)istrue but (R) is false
(D) (A) is false but (R) is true

42. Given below are two statements :
Assertion (A) and Reason (R).
your answer using code below :

Assertion (A) : Personality traits
measured by 16 PF are not orthogonal.

Reason (R) : Cattell used oblique
rotation to identify personality traits.

Codes :
(A) Both (A) and (R) are true and (R) is
the correct reason of (A)
(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)
(C) (A)istrue but (R) is false
(D) (A) is false but (R) is true

43. Match List | with List Il and select the

: correct code.
41. Given below are two statements : ] .
Assertion (A) and Reason (R). Select Listl List Ii
your answer using code below : a) Dyslexia 1) Communication
Assertion (A) : Raju is highly aggressive disorder
because his grandfather was also b) Stuttering 2) Attention deficit
aggressive. disorder
Reas.on (R) : Genes apd en_vironment ¢) Bulimia 3) Learning
contribute to personality traits. :
nervosa disorder
Codes : d) ADHD 4) Eating disorder
(A) Both (A) and (R) are true and (R) is ]
the correct reason of (A) Codes :
: a b c d
(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A) (A) 1 3 4 2
(C) (A) s true but (R) is false (B) s 1 R
: _ (C) 3 1 2 4
(D) (A) is false but (R) is true (D) 1 4 3 5
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44. Arrange the following in proper
sequence.

(A) Hunger need, self-esteem, self
actualization, safety, belongingness

(B) Hunger need, safety need,
belongingness, self-esteem, self-
actualization

(C) Hunger need, belongingness,
safety need, self-esteem, self-
actualization need

(D) Hunger need, self-esteem, safety
need, belongingness and self
actualization need

45. Arrange the following in proper sequence
relating to problem solving :

(A) ldentifying the problem, defining
problem, formulating a strategy,
resource allocation, monitoring

(B) Defining problem, identifying
problem, formulating strategy,
resource allocation, monitoring

(C) Identifying the problem, formulating
strategy, defining problem, resource
allocation, monitoring

(D) Defining problem, identifying
problem, resource allocation,
formulating strategy, monitoring

Question No. 46 to 50 :

Read the following paragraph and

answer the five questions which follow :

Motives are internal psychobiological
forces that induce particular behaviour
pattern. Motives captures the idea that
there are forces within the human
organism pushing for expression. In
some sense motives are more basic
than traits, because motives can be

seen as underlying traits.

46. Motivational forgetting is due to

(A) Emotional causes

(B) Biological causes

(C) Cultural factors

(D) Social dynamics
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47. In clinical diagnosis motives also act as | 49. What condition Henry Murray stresses

(A) Aptitude need fulfillment ?

(A) Good health
(B) Traits
(B) Perception
(C) Attitudes
(C) Learning

D) Abilities
(D) Abiliti (D) Social situation

48. Motives referto 50. Maximisation of human potential

(A) Internal energizers depends on following setting.

(B) Social drives (A) Very high goal
i

(B) Moderately high goal

(C) Attitudes

(C) Lower goal

(D) Homeostasis
(D) None of the above
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